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Aufg. 2.2.3e,8,]),k,6,13b,14c,18,29a

Aufg. 3e,g. 5.k

d (sin(x"2+1)cos(4x))
dx

2-x-cos(x2+1 ) -cos(4-x)—4-sin(x2+1 ) +sin(d+x)

i(Ll"taniilrjrzlll:l
dx

_( (tan(|x|)) 2+1)-5ignum(x)

(tan(|x|))?
simplify (ans)

—signum (x)

(sin(|x])) 2
A ((a~24x°2) "2/ (a~3+x~3) ~2)
dx

—(2-38—4-515-x+8-az-x4+6-a4-32—4-a3-33)

3
(x3+a8)



simplifv (ans)

=23 (X3—2'33+3'32'X) . (X2+32)

3
(x2+32—a-x) «(x+a) 3

i('Isin(:sf:}l"‘:x:}ll
dx

x+cos (x)+ (sin(x)) X 1 +In(sin(x) ) - (sin(x) ) X

stop

Aufg. 2.2.06

(Handskizze! )
Schnittpunkt bei x=n/f4

Anstieg sin{x):

solve (tan(o)=cos(n/fd), o)

{cx:tan“ [ % ] +x+constn(1) }
R [ V2 ]
oe=tan
2
Anstieg cos(x):
solve(tan(B)=—sin(xf4), B)
{B=—tan“ [ % ] +x-constn(1) }
o)

Ergebnis: Schnittwinkel=2a=70, 53"

appmx(Ztan“[%] Y180/ n

70.52877937



2@]

approx(tan“[ 1

1.230959417
approx (ans/w)

0.391826552
stop

Aufg. 2.2.13b

Ellipse (x/5)"2+{({(y+1)/2)"2=1
Define xt1 (t)=5%cos(t)

done
Define ytl(t)=—1+2%sin(t)

done

Ellipse LA

Po mit x%,=0, ¥<0, d.h. v,=—3

solve ((x/5) "2+ ((y+1)/2)"2=1,¥)

iy=—2- —x2425 9y —x2425 _1}

5 YT 5
. —2.y —x2425
Define v(x)= 5 -1
done
d
dx (y(x))
2%
5.y —x2+25

ans | x=0



Tangente y==3
stop

Aufg. 2.2.14c

DelVar x,v,r, o
done
r(gp)=1/¢p
x(r, @)=r¥cos(p), y{((r,p)=r¥ksin{ep)
somit
x(p)=cos(@)/p, y(p)=sin(p)/ep
nun

_ _dyv/dey
dv fdx=dv/dopxde/dx= dx/do

4 (sin() /o)
dep

d (cos(q@) fo)
de

—{+cos (@) —sin{yp))
p+sin {pl)+cos ()

nun op=x/f2

—(p+cos () —sin{p))
@+sin{@)+cos (@)

|p=n/2

A b

F=E

x(p)=cos(p) fp|o=xi2

v{(@)=sin(p) fo|p=nr/2



2
)
R_ =2 . =2 2
—0 Y =% ergibt: y= Xt
Spirale ‘E
stop

Aufg. 2.2.18

Define v(x)=|x/2-3|

abgeknickte Gerade:
vi{x)

¥’ in x=6 nicht definiert (Knickstelle)

d
dx(?(x))

v'’=0 auBerhalb der Knickstelle:

done

i [signum [ %—3 ] ]

Define v1(x)=|x/2-3|

2



signum [ %—3 ]

Define v2(x)= 2

done

done
Define ¥3(x)=0
Grafik ¥iie
stop
Aufg. 2.2.29a
Define v(x)=v 1+x"2
done
d
dX(F(X))
X
x2+1

somit dv= X
¢x2+1

stop

dx
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